



## 2016年度 微積分演習

著者	西村 泰一
著者別名	Nishimura Hirokazu
発行年	2016
URL	<a href="http://hdl.handle.net/2241/00139486">http://hdl.handle.net/2241/00139486</a>

## 微積分演習第6回

$$f(x+d_1+\dots+d_n) = f(x) + f'(x)\lambda_1^n(d_1, \dots, d_n) \\ + \dots + f^{(n)}(x)\lambda_n^n(d_1, \dots, d_n)$$

の証明.

$n$ に関する帰納法

$$n=1 \text{ のとき } f(x+d_1) = f(x) + f'(x)d \quad \text{成立}$$

$$n=k \text{ のとき } f(x+d_1+\dots+d_k) = f(x) + f'(x)\lambda_k^1(d_1, \dots, d_k) \\ + \dots + f^{(k)}(x)\lambda_k^k(d_1, \dots, d_k)$$

と仮定.

$$n=k+1 \text{ のとき } f(x+d_1+\dots+d_{k+1})$$

$$= f(x+d_{k+1}) + f'(x+d_{k+1})\lambda_k^1(d_1, \dots, d_k) \\ + f''(x+d_{k+1})\lambda_k^2(d_1, \dots, d_k) + \dots + f^{(k)}(x+d_{k+1})\lambda_k^k(d_1, \dots, d_k)$$

$$= f(x) + f'(x)d_{k+1} + (f'(x) + f''(x)d_{k+1})\lambda_k^1(d_1, \dots, d_k) \\ + (f''(x) + f'''(x)d_{k+1})\lambda_k^2(d_1, \dots, d_k) \\ + \dots + (f^{(k)}(x) + f^{(k+1)}(x)d_{k+1})\lambda_k^k(d_1, \dots, d_k)$$

$$= f(x) + f'(x)d_{k+1} + f'(x)\lambda_k^1(d_1, \dots, d_k) \\ + f''(x)d_{k+1}\lambda_k^1(d_1, \dots, d_k) + f''(x)\lambda_k^2(d_1, \dots, d_k) \\ + f'''(x)d_{k+1}\lambda_k^2(d_1, \dots, d_k) + f'''(x)\lambda_k^3(d_1, \dots, d_k) \\ + \dots$$

$f^{(i)}(x)$  の係数を見よ.

$$d_{k+1}\lambda_k^{i-1}(d_1, \dots, d_k) + \lambda_k^i(d_1, \dots, d_k) = \lambda_{k+1}^i(d_1, \dots, d_{k+1})$$

したがって  $n=k+1$  也成立.

帰納法により示された.

$x = x(t)$  時刻の関数

$x' = ax$  微分方程式

$$x(0) = C \text{ (定数)}$$

$$\begin{aligned} x(d_1) &= x(0) + x'(0)d_1 \\ &= C + aCd_1 \\ &= C(1+ad_1) \end{aligned}$$

$$\begin{array}{c} d_1 \quad d_1+d_2 \\ \longrightarrow \longrightarrow \longrightarrow d_1+d_2+d_3 \end{array}$$

$$\begin{aligned} x(d_1+d_2) &= x(d_1) + x'(d_1)d_2 \\ &= x(d_1) + ax(d_1)d_2 \\ &= x(d_1)(1+ad_2) \\ &= C(1+ad_1)(1+ad_2) \end{aligned}$$

$$\begin{aligned} x(d_1+d_2+d_3) &= x(d_1+d_2) + x'(d_1+d_2)d_3 \\ &= x(d_1+d_2) + ax(d_1+d_2)d_3 \\ &= x(d_1+d_2)(1+ad_3) \\ &= C(1+ad_1)(1+ad_2)(1+ad_3) \end{aligned}$$

$$x(d_1+\dots+d_n) = C(1+ad_1)\dots(1+ad_n)$$

$$= C \left\{ 1 + a \underbrace{(d_1+\dots+d_n)}_{\lambda_1^n(d_1, \dots, d_n)} + a^2 \underbrace{(d_1d_2+\dots)}_{\lambda_2^n(d_1, \dots, d_n)} + \dots \right\}$$

$$\begin{array}{ccc} \lambda_1^n(d_1, \dots, d_n) & \lambda_2^n(d_1, \dots, d_n) & \\ \parallel & \parallel & \\ d_1+\dots+d_n & \frac{(d_1+\dots+d_n)^2}{2} & \end{array}$$

$$= C \left\{ 1 + a(d_1+\dots+d_n) + a^2 \frac{(d_1+\dots+d_n)^2}{2} + \dots + a^n \frac{(d_1+\dots+d_n)^n}{n!} \right\}$$

$$C \cdot e^{at}$$

$$x = \sin t \quad \text{と可い.}$$

$$x' = \cos t$$

$$x'' = -\sin t \quad \text{なので} \quad x'' = -x \quad \text{と可い(2).}$$

$$x'' = -x$$

解く.

$$x(0) = C_1$$

$$x'(0) = C_2 \quad \text{と可い.}$$

$$x(0) = C_1$$

$$\begin{aligned} x(d_1) &= x(0) + x'(0)d_1 \\ &= C_1 + C_2 d_1 \end{aligned}$$

$$\begin{aligned} x(d_1+d_2) &= x(d_1) + x'(d_1)d_2 \\ &= (C_1 + C_2 d_1) + \{C_2 + (-C_1)d_1\}d_2 \\ &= C_1(1-d_1 d_2) + C_2(d_1+d_2) \end{aligned}$$

$$\begin{aligned} x(d_1+d_2+d_3) &= x(d_1+d_2) + x'(d_1+d_2)d_3 \\ &= C_1(1-d_1 d_2) + C_2(d_1+d_2) \\ &\quad + \{x'(d_1) + x''(d_1)d_2\}d_3 \\ &\quad \quad \quad \uparrow \quad \quad \quad \uparrow \\ &\quad \quad \quad C_2 - C_1 d_1 \quad \quad \quad -x(d_1)d_2 \\ &\quad \quad \quad \quad \quad \quad \quad \quad \quad = -(C_1 + C_2 d_1)d_2 \end{aligned}$$

$$\begin{aligned} &= C_1 \underbrace{(1-d_1 d_2 - d_1 d_3 - d_2 d_3)}_{1 - \frac{(d_1+d_2+d_3)^2}{2}} + C_2 \underbrace{(d_1+d_2+d_3 - d_1 d_2 d_3)}_{\frac{(d_1+d_2+d_3)^3}{3!}} \end{aligned}$$

$$\cos t = 1 - \frac{t^2}{2} + \dots$$

$$\sin t = t - \frac{t^3}{3!} + \dots$$

宿題

$x(d_1 + \dots + d_4)$  を計算せよ.